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2.0% | 3% |3.5% | 4% |4.5% | 5% |5.5%

1 | 1.01000 1.01500( 1.02000| 1.02500 1.03000| 1.03500/ 1.04000 1.04500| 1.05000( 1.05500
2 [ 0.50751] 0.51122] 0.51505 0.51883| 0.52261] 0.52640] 0.53019( 0.53400( 0.53780] 0.54162f

3 | 0.34002) 0.34338 0.34675 0.35014| 0.35353| 0.35693| 0.36034] 0.36377) 0.36721| 0.37065

4 | 0.25622] 0.25944] 0.26262 0.25682f 0.26902] 0.27225] 0.27550( 0.27874| 0.28201 0.28529

2] 5 | 0.20604) 0.20909] 0.21216] 0.21525 0.21835 0.22148| 0.22467 0.22779] 0.23097] 0.23418
6 [ 0.16255) 0.17552) 0.17853| 0.18155 0.18460( 0.18767 0.19076] 0.19388| 0.19702| 0.20018

< 7 ] 0.14863 0.15156] 0.15451] 0.15750] 0.16051| 0.16354] 0.16651 0.16970/ 0.17282( 0.17596
8 | 0.13069] 0.13358 0.13651( 0.13947| 0.14246] 0.14548| 0.14853 0.15161] 0.15472| 0.15786|

9 | 0.11674] 0.11961]0.12252] 0.12546) 0.12243] 0.13145[ 0.13450/ 0.13757 0.14069] 0.14384

" 10 | 0.10558] 0.10843[ 0.11133 0.11426] 0.11723( 0.12024] 0.12330( 0.12638] 0.12950, 0.13267
11 | 0.09645 0.09929 0.10218] 0.10511| 0.10808 0.11109 0.11415| 0.11725] 0.12039] 0.12357
ot 12 | 0.08885] 0.09168] 0.09456] 0.09749 0.10046( 0.10348[ 0.10655 0.10967| 0.11283) 0.11602)
g 18 [ 0.08241| 0.08524] 0.08812 0.09105] 0.09403 0.09706( 0.10014| 0.10328| 0.10646/ 0. 10968
14 | 0.07691] 0.07972] 0.08260| 0.08554| 0.08853| 0.09157| 0.09467| 0.09782 0.10102 0.10428

& 15 | 0.07212] 0.07494 0.07783(0.08077 008377 0.08683 0.08924| 0.09311] 0.09634] 0.09963
16 | 0.06794] 0.07077) 0.07365] 0.07660( 0.07961| 0.08268| 0.08582 0.08902 0.09227 0.09558

17 | 0.06426 0.06709] 0.06997| 0.87293( 0.07505| 0.07904| 0.08220/ 0.08542 0.08870] 0.09204

|18 | 0.06098] 0.06380] 0.06670{ 0.06967 0.07271| 0.07582 0.07899| 0.08224) 0.08555 0.0889,

[ 19 | 0.05805] 0.06088| 0.06378[ 0.06676] 0.06981] 0.07294] 0.07614] 0.07941] 0.08275[ 0.08615

20 | 0.05512] 0.05825 0.06116 0.06415 0.06722 0.07036] 0.07358) 0.07688| 0.08024) 0.08368




: K W OF M

Sl

® A

150

ST

o mw_ 6% |6.5% | 1% |7.5% | 8% |8.5% | 9% |95 [10% |
1 | 1.06000 1.08500 1.07000] 1.07500] 1.08000( 1.08500| 1.09000] 1.09500] 1.1000¢]
2 | 0.54543 0.54926] 0.55309] 0.55693 0.56077 0.56462 ] 0.56847| 0.57233) 0.57619)
3 | 0.87411] 0.37750] 0.88105 0.38454| 0.38803) 0.39154] 0.39505] 0.39858| 0.40211|
4 [ 0.28859 0.29190] 0.29523 0.29857 0.30192( 0.30529[ 0.30867| 0.31206] 0.31547
5 | 0.23740] 0.24063] 0.24389( 0.24716] 0.25046) 0.25377| 0.25709] 0.26044| 0.26380
6 | 0.20336 0.20657] 0.20980] 0.21304] 0.21632] 0.21961] 0.22920] 0.22625| 0.22961]
7 ] 0.17914] 0.18233] 0.18555] 0.18880( 0.19207] 0.19537] 0.19869] 0.20204] 0.20541
8 | 0.16104) 0.16424] 0.16747] 0.17073( 0.17401| 0.17733] 0.18067| 0.18405] 0.18744
9 | 0.14702] 0.15024] 0.15349| 0.15677] G.16008] 0.16342| 0.16680] 0.17020] 0.17364/

10 | 0.13587] 0.13910 0.14238| 0.14569| 0.14903| 0.15241) 0.15582] 0.15927 0.16275
11 [ 0.12679] 0.13006] 0.13336] 0.13670( 0.14008] 0.14350] 0.14695] 0.15044] 0.15396
12 | 0.11928] 0.12257] 0.12590] 0.12928] 0.13270] 0.13615| 0.13965] 0.14319] 0.14676|
13 [ 0.11296[ 0.11628] 0.11965] 0.12306 0.12653] 0.13002] 0.13357] 0.13715] 0.14078|
14 | 0.10758] 0.11094] 0.11434 0.11780] 0.12130] 0.12484] 0.12843( 0.13207 0.13575|
15 . | 6.10296 0.10635] 0.10979] 0.11329] 0.11683[ 0.12042] 0.12406] 0.12774] 0.13147]
16 | 0.09895/ 0.10238 0.10586] 0.10939] 0.11298] 0.11661( 0.12030/ 0.12403 0.12782]
17 | 0.09544] 0.09891] 0.10243| 0.10600 0.10963 0.11331/ 0.11750{ 0.12033 0.12466]
18 | 0.09236[ 0.09585] 0.09941] 0.10363] 0.10670] 0.11043 0.11421] 0.11803] 0.12193]
19 | 0.08962] 0.09316[ 0.09675] 0.10041] 0.10413[ 0.10790] 0.11173] 0.11561] 0.11955]
20 | 0.08718 0.09076] 0.09439| 0.09809] 0.10185] 0.10567 0.10955] 0.11348| 0.11760]
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